EARAROBEEIERT — 2 N— IBISH —F

2017848158 (+) 1EES3H

KB >%4%t 5005T UEwl iR

‘ (%] 8 ‘ [EmmEl  — | 4 (5) 17000 &

[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o N B A 146. -1-1- . . hEER T (EH
1 3| @7RO/ KT o4 BB 1(4_6)9 it 13881 %68 ) 7 :?2) TROHS Iy K57
L:xoovd /€8x 7ROV RIS X ek
. 4 o6 | D 1:47.5 2-2-2-2 |39.3]91.8| 2 502 | MAEHER (EX)
2 1| T r— ¥¢56.0 (3 1/2) -12) SHRE
L:TA=—TAFAF=XY%> BN TYUa-I V3P hBERBS
AR o4 | AKWEIGH 1:47.6 8-8-6-5 |38.8| 90.8 | 1 462 | ERIRRAS (5A)
N R g X56.0 i oy | 8 5K
ihxrex) BNAECIH—-I Evzie]
S H o4 | BRR 1:47.9 13-13-14-11{ 38.4 | 88.2 | 9 484 | BREH#ESE (RR)
48|14 X T¥avgyya ¥¢56.0 (1 3/4) (-q) | MAAATIE
R:ZZATAKR BRXHTI—L DY ¢
2 = B4 | Bt 1:48.1 2-2-2-2 | 39.9| 87.0 | 8 488 | mMEZ (EH)
5/5/8| X T7NTr77— 5.0 (" 1/4) (+g) | %]
L:hxexy B:HYLE-XL ke
5 #H o6 | SERIE 1:48.6 5-4-4-4 | 40.1| 83.0 | 10 | 450 |#BEEZ (E=)
EH 4| 7—VTa—H— 57.0 3) () | AVAEAER
Z:IANRZTNT B:EH/Ov> =i =
S S 4 | EBBZ 1:49.0 13-13-11-7 | 39.8 | 79.5 | 3 488 | UIHEZ= (FRR)
707|12| bV BAT— o 2 1/2) Cra) | OB # =
R:d—IK7Ya—b B:54T)—-Fa—-> HE77—L4
- = . A : —15-0— ERZEE (FR)
8 10| X737 UF> o4 g (17.4;% 15-15-9-7 | 39.9 | 79.6 | 5 Ag? kﬁ,ﬂ.’éﬁi
R:vPNyBLhT1 BTIRRAT 4 —IN— A
S ; £ 4 | BEIE 1:49.6 12-12-14-11| 40.1 | 74.8 | 11 556 | EMFEAL (i)
9 6 A4 —XBZ—H2 I - 57.0 (31/2) (-10) fRERAE—
LHEATATv— B:w)lx X J—YTr—LA
N N > 5 | REME 1:49.6 8-9-7-7 |40.6 | 75.4 | 4 464 | FALLRHE (3578)
1wkl 2| @E—/17 [B] 7570 (7E) (-4) BEiLE
Z:Er/07a4 B:oqO—XKy Y BT 7 —L4
46 | MLFIE 1:49.9 4-4-4-6 | 41.4| 73.9 | 14 | 480 |BEINE (EKH)
1118l15| 77— A bF =Y — 57.0 @ (-q) | DHBRER
L:TNFNTL2 BAFRvO-Lb RIS
9 . BHF : —6-9- BREBFZ (EH)
1 5| SAFLy hoa—> H o7 E# (12510/23) 6-6-9-7 |41.2| 70.5 | 13 (5:)22) il
R:Uh—> BTRAH pailzcbae]
N . . HFHEA :51. -9-13- . . R (ER)
il vrrrLyk o4 =2 1(571)5 8-9-13-15 | 42.1| 62.7 | 6 (5+222) %ﬁ%ﬁz:
LNnN—ErTv— B:T7RIIYTyx— J—HrTp—L
. o4 | BREA 1:51.8 11-11-12-14| 42.5 | 61.2 | 15 | 468 |fEEE&HR (k)
14/ 7]13| @ >~ by —L [B] 57.0 (1 3/4) (-g) |1ABE
L:x+ 77 bw—L B:¥ It O— HIR4%
- - . BBk :55. ~6-7- . . wEE (FER)
551975y sanas it 6 §54.o (175}5;) 6-6-7-13 | 46.1| 46.0 | 12 gs) /wjr_ o
LT =TT BV TUTANAS e
@ 21 L
£ 51.4-38.8
NA> AL | 7.2-11.2-11.6-12.6-12.9-12.6-12.6-12.9-13.3
® 1—F—@EBIERL
1T=7r= 3(8,11)15,4(5,9) (1,2,7)13,6(14,12)-10
Pal=5F= 3(8,11) (4,15) (5,9)-7(1,2)13,6(14,12)10
Ja=77= (x3,8,11)-(4,15)-7(9,2) (5,10)12,13,1(14,6)
43—+ — 3(8,11)-4-7,15-(5,12,2,10) (14,6)9,13,1
[ N5
BB 3 1,670 714K 3-11 1,480H e E 2-6 990M JEE 3-7-11 3,490/
# B 3 320H 3-7 780M B = 3-11 4,320M JEH 3-11-7 31,650/
1 170 7-11 340M B H 3-11 8,110M
7 140/

ABICOVWTRDTEEERROODE. TR LIV,




